DIATGNE® ROMAF5DJIv2 HIZR4AREE s s s e s .
Roma F5 DJI v2 Frame Assemble Diagram P = = g I %

X10 X18 xX12 X6 X6 X4
Roma F5 DJI v2 EBRA Y |, H 1t T MR AR08 HSkBIS A B, MEERIVTOTS A SFHREIS04 TSI B, REMIHAMIE, 53 oo M i ik
BB B HFIIEEIRZ, B MM2E—EIM3RNT ;3410 T DIIBISUKLLEIE 75 o FTEC BRI £ RIE BRIP4, IRABENERY, EEE ]
LR = REIRIF. Goproal RS, $EFH P M. BRI E LGt BRRGBIFNT R WM. E10 ElL E12 EL3
Diatone has introduced a number of changes to the newly optimized Roma F5 v2, including the stiffness and strength of the frame arms. ;
We've also strensgther?ed tﬁe metal parts atcthef;goer?tofthefrzm)efar?d upgradeth:alloy éﬂaférialﬁ%om 7?)75 to 3564. Foithafext?a higeh-end,tactile ’ i@-‘\' @
quality, we've treated the surface of the metal parts as well and changed the screws fixing the metal parts from M2 size to M3-sized specifica- 1 ‘1 18 3
tions. For our digital HD fans, we haven't forgotten you! This time, we've added mounts for the twin DJI antennas. Roma F5 v2's injection-mold- M5 X 20mmpIs 8 4 - M3X6X0.5mm S M2 S

ed protection parts not only add a dash of color with our new color optigns but also offer better protection for your gear. The GoPro mount angle M5 20mm Hex screw M5 Self tightening nut M3 6x0.5mm Iron gasket M2 Nut
can be adjusted for faster changes on the fly. For the best flying experience, the v2 comes in a slammed configuration for stability.

= A

Product Specifications TiE

R IR
Installation procedure

HZRER  HE PR : 226mm MEEE 140g( R & FBH£913g) EREE:2.5mm

RREE:2mm [RIRERE :2.5mm MEEE:5mm HMERE:10~14mm

KEFLF:@5.5mm ®&ES:23mm TR AREM:5.2inch BEKiEEE: 20mm

14565 MAREEILIE I6mm(M3) AL 22~23R 5] B 457188 20*20mm (M2) /30.5+30.5mm (M3) )
Frame Shape: Type H Motor to Motor:226mm Frame Net Weight: 140g(without injection plastic parts 13g) Top Plate Thickness: 2.5mm

Medium Plate Thickness: 2 mm Bottom Plate Thickness: 2.5mm  Arm Thickness:5mm Arm Width:10~14mm

Bore Diameter of Snap Ring: @5.5mm  Max Stack Height: 23mm Supported Prop Size: 5.2 inch Camera Spacing:20mm

Recommended Lipo: 4S-6S The hole distance of Motor mounting: 16mm(M3) Recommended Motor Size: 22~23 Series motor

FC Stack Mount: 20*20mm(M2)/30.5*30.5mm(M3)

Parts list

RE20mmIEEIGRL
B1 B2 Installation of 20mm camera

O
TR iR AR g MkERMHE M3 X 23mm&khiatE
Top plate Medium plate Bottom plate Arm Drone head metal parts M3X23mm Alum standoff
B3 B4 Cl C2 Cc3 D1
42mm

X2 X3 X1 X1 x4
M2 X 19mméatE M3X23mméatE GPS/TBS/2.4G TENf4 DJIRZ=HHFTENF DJI SRR L BRI
M2 X 19mm Alum standoff M3X23mm Alum standoff GPS/TBS/2.4G 3D-Printed out ~ DJI AIR Unit bracket DJI dual antenna mount Motor wire cover
D2 D3 D4 D5 D6

ﬁ M @ AWG 12 @ b
AWG 14 a

X1 X4 X1 X1 X1 X1
THIERIPMIAR B BIREEE S A RAUR Goproa & kAR
Arm guards Foot pad Power cord fixing Front airflow side panel GoPro adjustable mount Camera plate
D8 D9 D10 El E2 E3

\\( b
(

& N = o =

X1 a X1 X2 X7 X3 x5
=Rulyah o) HKRIP 2 AGKREARIP M2 X5mmPAI7S iR M2 X 11mmA7RF gL M3 X5mm RAFigL

Lipo anti-slip pad Camera protector 2.4G Antenna protector M2X5mm Hex screw M2X11mm Hex screw M3X5mm Hex screw

o EfEEER



MAMBA 5.8G Antenna ( MMCX)
( Need to buy separately #3i%E4 )

m.*m _ry,,,

220 GPS
(Need to buy separately &5 shi%i)

BMEEAT

Battery fixing way

Web : www.diatone.us

REREFN
TBS CROSSFIRE
IMMORTAL T V2 ANTENNA
(Need to buy separately &5 %)
IAIDIATONEE MIR1F

Antenna installation Way 2:
: Diatone Innovation Designed by Sniclo.

=

=

’ o
—

e S

w 3

4 £
©
[=%]
N

RN

For more information, please refer to the Diatone official website
Address : Baijiayi Technology Park A-3, Yantian , Fenggang , Dongguan , Guangdong, China

We provide outstanding service since 2012

Email : service.support@diatone.hk

Tel :

N ®
DIATONE
Manufacturer

BiF

MAMBA 5.8G Antenna (MMCX)
(Need to buy separately 531 )

RAREHN—:

Antenna installation Way 1:



N ® Nl —
DIIA\TON E RO MA F5 V2 *}-Lglgéﬂgi:%l \%n\ § D8 . D9 El E2 E3 E4
Roma F5 v2 Frame Assemble Diagram 5 g = — s

X1 X2 X9 X5 X3 X3
~ Bk R A 3L Ak Stz A 4T 7 4 N sty DAL PR 2AGKREIRIF M2 X 4mmA7<FiRL M2 X5mmRANfRigL M2 X 11mmRA iR M3 X 4mmiik 7S fiRL
Roma F5v2 Eﬁﬁgﬁtﬂt’ {tﬂ/’T)m = *EDBE’JXTEEE ’ ﬁl,;‘;ﬂ']%}%?f‘?fﬁ, }\Aﬁ;EE,JY()?S = ﬁﬂ,&x']304$%§fm7w 7S %‘%ﬁmﬁtﬂ&i, 'H?;EEQ} DJI C?mera plate 2.4G Antenna protector M2X4mm hex/s\crew M2X5mm hex/s\crew M2X11lmm Hex/s\crew M3 X4mm Sunken sockz't\headcapscrew

BRI 2 B BB A2 2, t MM2Gi—BIM3R T ; B0 T GPSHVSEERI B, 5 BB GPSH B (kL. R a2 R BRI, 12 F BB
BB, A NI TH SR = QAR Goprom B B, 27 P B A A, SR AR E 0igit, LR E BTN F R (T ES E6 E7 E8 ES E10

Diatone has introduced a number of changes to the newly optimized Roma F5 v2, including the stiffness and strength of the frame arms. W ’ ’
@\' Q) @33 ) B )

We've also strengthened the metal parts at the front of the frame and upgrade the alloy material from 7075 to 304. For that extra high-end, tactile
quality, we've treated the surface of the metal parts as well and changed the screws fixing the metal parts from M2 size to M3-sized specifica-

. . . . , . ' Xx10 Xx10 X18 X12 X6 X6
.tlc?ns.. Pilots looking for .long—ranged adventures can consider Roma F5 v2, as we ve added space to fit a GPS m.odule. Roma F5 v2's M3 X Smm R M3 X 6mmi s B R M3 X Smmig s e 4 M3 X Omm A g 4 M3X 11mmpg A i M3 X 13mmpa A8
injection-molded protection parts not only add a dash of color with our new color options but also offer better protection for your gear. The M3 5mm Hex screw M3 6mm Hex screw M3 X 8mm Hex screw M3X9mm Hex screw M3 11mm Hex screw M3 13mm Hex screw
GoPro mount angle can be adjusted for faster changes on the fly. For the best flying experience, the v2 comes in a slammed configuration for
stability. Ell E12 E13 E14
= &

i""n:'n*m@ x4 x1 X1 x18

[ : M3X28mmA7<FiRL M5X20mmA7<fiRL ! .
Product Specifications M3 28 o scron M 20mm e scro M R ming nut o0 on gt
HEREEY  HAY XY FA%AEE 1 218mm HERSE  124g(FE&E2EHL910g) EFREE:2.5mm
FiREE:2mm [RAREE :2.5mm MEEE:5mm HERE:10~14mm
MAREE:1.5mm REFLZE:05.5mm ®&EBEE:23mm SHRAEM 5.1inch T a—
B&KEE : 20mm HFEFERIM 1 4S~6S EEHREEFLEE 1 16mm(M3) WEFFEBL 1 22~23RFIEBH STIRZU IR

WEFLEE :20*20mm (M2) /30.5*30.5mm (M3) Installation procedure

Frame Shape: Type H Motor to Motor:218mm Frame Net Weight: 124g(without injection plastic parts 10g)  Top Plate Thickness: 2.5mm
Medium Plate Thickness: 2 mm  Bottom Plate Thickness: 2.5mm Arm Thickness:5mm Arm Width:10~14mm

Side plate thickness:1.5mm Bore Diameter.of Snap Ring: @5.5mm  Max Stack Height: 23mm Supported Prap Size: 5.1 inch
Camera Spacing:20mm Recommended Lipo: 4S-6S The hole distance of Motor mounting: 16mm(M3)

Recommended Motor Size: 22~23 Series motor FC Stack Mount: 20*20mm(M2)/30.5*30.5mm(M3)

HoltiE

Spare parts list

REL20mmIEIREL REAIMmMANSERL
Installation of 20mm camera Installation of 199mm camera
Al A2 A3 A4 A5 Bl
P
\«% b
a
. “ (2
IR ng FRAMIR NEkEEH
Top plate Medium plate Bottom plate Arm Camera plate Drone head metal parts

MAMBA 5.8G Antenna

s

B2 B3 B4 (Need to buy separately E5i%EH )
P— P @‘\ﬂ’
X2 X3 X5
M2 X 19mmSatE M3 X23mmsBtE M3 X 23mm&RiEE EfEREEM GPS/TBS/2.4G $TEN¥ EthphER
M2 X 19mm Alum standoff M3 X23mm Alum standoff M3X23mm Alum standoff VTX adapter GPS/TBS/2.4G 3D-Printed out Lipo anti-slip pad
D2 D3 D4 D5 D6 D7

TBS CROSSFIRE
IMMORTAL T V2 ANTENNA
(Need to buy separately &53i%H )

=[]

el =5 2w
G 14 IPEX to MMCX
M @ ( Optional products #E*=5 )
AWG 12 a
X1 X4 X1 X4 X1 X1
Gopro FJFEE BRI THIERIPMIAR [k BRLE E HARIP S

GoPro adjustable mount Motor wire cover Arm guards Foot pad Power cord fixing Camera protector



MRAMBLRKER—#, Bt LFERE X = D5
E8 mimgL, &EERHEnRL,

Please note the different screw hole lengths on the arm

bumper plastic injection part. We suggest mounting the motor

screws first, then the screws for the plastic injection part.

BEES N
Battery fixing way

VTX:MAMBA Ultra 1000
(Need to buy separately &5 5h%&M)

BEIFEANER, A& HIRIDIATONEE MIR1F
For more information, please refer to the Diatone official website

=Y
8%
J

k
S

DIATGNE"

We provide outstanding service since 2012

Manufacturer : Diatone Innovation Designed by Sniclo.

Email : service.support@diatone.hk

Tel : (+86) 0769—82100057 Web : www.diatone.us

Address : Baijiayi Technology Park A-3, Yantian , Fenggang, Dongguan , Guangdong , China




R AR~ :400mm*295mm (1E fz /R E ENRY)
HIn{ 21 B EL%, 3mm

LR 1:1

B :mm

45K 105g HRAAR 4R

T B BERENITE RS GCRENR)
BYi8]:2021-04-12



